

# Bialgebra $B$ over $k$

Associative unital algebra

$$\mu : B \otimes B \rightarrow B$$

$$\eta : k \rightarrow B$$

$$\mu \circ (\mu \otimes 1) = \mu \circ (1 \otimes \mu)$$

$$\eta \circ \eta = \eta$$

Coassociative counital coalgebra

$$\psi : B \rightarrow B \otimes B$$

$$\iota : B \rightarrow k$$

$$\psi \circ \psi = (\psi \otimes 1) \circ \psi$$

$$\psi \circ \iota = \iota \circ \psi$$

Compatibility:

$$\mu \circ (\psi \otimes 1) = (\mu \otimes 1) \circ \psi$$

$$\mu \circ \eta = \eta \circ \iota \quad \psi \circ \iota = \iota \circ \psi$$

$$\eta \circ \iota = \eta$$

(multiplication is a homomorphism, or multiplication is a cohomomorphism)

# Hopf algebra $H$ is a bialgebra

with antipode  $\phi : H \rightarrow H$  satisfying

$$\mu \circ (\phi \otimes 1) \circ \psi = \eta \circ \iota = \eta$$

Lemma  $\mu \circ (\phi \otimes 1) \circ \psi = \eta \circ \iota = \eta$  ( $\phi$  is an antihomomorphism)

PF  $\mu \circ (\phi \otimes 1) \circ \psi = \eta \circ \iota = \eta$

Corollary  $\psi \circ \phi = \psi$ . PF Flip the diagrams over.

Lemma  $\phi \circ \eta = \eta$  and  $\phi \circ \iota = \iota$ . PF  $\phi \circ \eta = \eta \circ \iota = \eta$

Lemma If  $H$  is cocommutative (or commutative),  $\phi \circ \eta = \eta$ , thus  $\phi$  is an isomorphism

PF  $\phi \circ \eta = \eta \circ \iota = \eta$

# Group algebra

Let  $G$  be a group,  $k$  a field.  $H = k[G]$  is a Hopf algebra.

$$\begin{aligned} \mu & \text{ is multiplication.} & \psi & = g \mapsto g \otimes g \\ \eta & = 1 & \iota & = g \mapsto 1 \\ & & \phi & = g \mapsto g^{-1} \end{aligned} \left. \vphantom{\begin{aligned} \mu & \text{ is multiplication.} \\ \eta & = 1 \\ & & \phi & = g \mapsto g^{-1} \end{aligned}} \right\} \text{ defined on basis } g \in G$$

Let  $\mathbb{1} \in H$  be  $\frac{1}{|G|} \sum_{g \in G} g$ .  $\eta \circ \mathbb{1} = \eta \mapsto \frac{1}{|G|} \sum_{g \in G} \eta(g) = \frac{1}{|G|} \sum_{g \in G} 1 = \mathbb{1}$  so  $\mathbb{1} \in \text{Hom}_H(k, H)$

Dual:  $\mu : H \otimes H^* \rightarrow k$   
 $= g \otimes \psi \mapsto \langle \psi, g \rangle$

$\mu$  defined by  $\mu \circ (\mu \otimes 1) = \mu \circ (1 \otimes \mu)$

Forces  $\mu = \mu \circ (\mu \otimes 1)$

Then:  $\mu \circ (\mu \otimes 1) = \mu \circ (1 \otimes \mu)$

so  $\mu \in \text{Hom}_H(H^*, H)$ .

And, is isomorphism if  $G$  finite. Hence, we let

$$\eta = \frac{1}{|G|} \sum_{g \in G} g \circ \psi = \frac{1}{|G|} \sum_{g \in G} g = \mathbb{1}$$

$\mu = \psi$  and  $\mu = \text{inverse}$ .  $\eta = \mathbb{1} = \eta$  and  $0 = |G|$

$$\phi = \frac{1}{|G|} \sum_{g \in G} g^{-1} = \mathbb{1}$$



## "Orthogonality of columns"

For  $g \in G$ , let  $C_g =$  conjugacy class of  $g$  and  $\eta_g(h) = \begin{cases} 1 & \text{if } h \in C_g \\ 0 & \text{otherwise} \end{cases}$ .  $\eta_g$  is a function on conj. classes

so  $\eta_g = \sum_i a_i \chi_i$  for some constants  $a_i$ .  $\langle \chi_i, \eta_g \rangle = \sum_j a_j \langle \chi_i, \chi_j \rangle = a_i$ ,

and  $\langle \chi_i, \eta_g \rangle = \frac{1}{|G|} \sum_{h \in G} \chi_i(h^{-1}) \eta_g(h) = \frac{|C_g|}{|G|} \chi_i(g^{-1})$ , so  $\eta_g = \frac{1}{|G|} \sum_i |C_g| \chi_i(g^{-1}) \chi_i$

If  $g, h$  conjugate, get  $1 = \frac{1}{|G|} \sum_i |C_g| \chi_i(g^{-1}) \chi_i(h)$ . Else, get  $0 = \frac{1}{|G|} \sum_i |C_g| \chi_i(g^{-1}) \chi_i(h)$ .

Thus,  $\sum_i \chi_i(g^{-1}) \chi_i(h) = \begin{cases} |G|/|C_g| & \text{if } h \in C_g \\ 0 & \text{otherwise} \end{cases}$ .

## Tensor powers

$S_n$  acts on  $n$  parallel strands, giving an endomorphism, ex:  $(123) \mapsto \text{XX}$

$\text{Sym}^n V = \frac{1}{n!} \sum_{\sigma \in S_n} \sigma$ .  $\text{im } \text{Sym}^n V \cong \text{Sym}^n V$   $\text{tr } \text{Sym}^n V = \dim \text{Sym}^n V = \binom{\dim V + n - 1}{n}$

$\text{Alt}^n V = \frac{1}{n!} \sum_{\sigma \in S_n} (-1)^\sigma \sigma$ .  $\text{im } \text{Alt}^n V \cong \Lambda^n V$  Similar identities,  $\text{tr } \text{Alt}^n V = \binom{\dim V}{n}$

ex  $\text{Sym}^2 V + \text{Alt}^2 V = \frac{1}{2}(11 + X) + \frac{1}{2}(11 - X) = 11$  and  $\text{Alt}^2 V = \frac{1}{2} \text{Sym}^2 V - \frac{1}{2} \text{Alt}^2 V = 0$

so these are a pair of projectors decomposing the tensor square ( $V^{\otimes 2} \cong \text{Sym}^2 V \oplus \Lambda^2 V$ )

Characters:  $\chi_{\text{sym}} = \frac{1}{2}(\chi + \chi^2) = \frac{1}{2}(\chi(g) + \chi(g^2))$ , so  $\chi_{\text{sym}}(g) = \frac{1}{2}(\chi(g)^2 + \chi(g^2))$

$\chi_{\text{alt}} = \frac{1}{2}(\chi - \chi^2)$  so  $\chi_{\text{alt}}(g) = \frac{1}{2}(\chi(g)^2 - \chi(g^2))$ .

To represent powers of powers, ex  $\text{Sym}^2 V^{\otimes 2}$  by  $\text{Sym}^2 V^{\otimes 2} = \frac{1}{2} \text{Sym}^4 V + \frac{1}{2} \text{Alt}^4 V$

